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Ρεύματα Πηγές 
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Μαγνητικό πεδίο 
Lorentz 
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 Ηλεκτρομαγνητική επαγωγή 
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Εναλλασσόμενα ρεύματα 

Μιγαδικά μεγέθη 
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Κύκλωμα RLC σε σειρά 

ZRLC = R + RL + RC    = R +j[ωL - 1/(ωC)] RL = jωL      RC = -j/(ωC) 
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Η ύλη εντός μαγνητικού πεδίου 
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χπαρ. = C/T 
 

Curie-Weis: χ = C/(T - TC) 

Άτομα 
m = M.u Bohr:     L = mrv = nh/(2π)          E = hν = Εαρχ. - Ετελ. W = Δm c2 

Φυσική ραδιενέργεια:  N = N0e- λt      T1/2 = ln2/λ D = W/m           Dβ = Q D 

Σταθερές 
e = 1,6021 . 10-19 C ε0 = 8,854 . 10-12 C2/(Nm2) μ0 = 4π10-7 Wb A-1 m-1 

me = 9,11 . 10-31 kg u = 1,66057 . 10-27 kg h = 6,626 . 10-34 Js 

Διανύσματα 
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